Revision 1.5

8 Fixed Gear Installation

This section describes the following steps for the installation of the fixed gear:

8.1
8.2
8.3
8.4

Aligning the gear legs and fitting the plywood brackets

Reinforcing the attachment points for the gear legs in the fuselage

Assambling the Gear Legs in the fuselage

Fitting the wheel covers and the fairings to the fuselage an assambling the wheels

8.1 Aligning the gear legs and fitting the plywood brackets

Reinforce each knee with a 4m
carbon roving 1610 Tex

This knee also needs
to be reinforced

7.1



Revision 1.5

Centerline

Any tube to align

they|egs : Bend a 25mm tube
in the middle to
align the legs with a

dyhedral of 60mm

Measured - A

under tube

Machine square holes into a
wood bars to align the legs

7.1



Revision 1.5 _% FG

i . = g
| - One Layer 200 g/m2 Carbon
| around the mounting block
| (fill edaes with cotton flox)

7.1



Revision 1.5

- Drill one 30 mm hole into each plywood where
the position of the zylindrical end of the leg is

- Put thr rubber hose over each gear leg end

- Fix the two plywood brackets with 5 min. resin in
the right position

I The heigth of the leg ends to each other can be
differend. Important is the aligning of the whels !!

- One Layer Fibreglass fabric
296g/m? laminated in all the edges.
(fill edges with cotton flox)

- Cover wood with resin!

1.2



Revision 1.5

8.3 Assambling the gear legs in the fuselage

- For BRS option: Attach the steel - three Lock Nuts M8
cable to the aluminium bar with washer

Il Tighten the Nuts with
a max torque of 22Nm!!

-

Fuselage
- Put the Rubber 140 x 60 x 1 under
the gear leg into the mounting - Brake Tube
block (Put a rubber tube over the
- Put the Rubber hose over the | | prake tube where the hole in
Aluminium Bar the leg is!)

7.1



Revision 1.5 o FG

8.4 Fitting the wheel covers and the fairings to the fuselage and assambling the wheels

Gear Leg

Nut M8 with washer

WWheel axle -I",_Tn'_'_ — ﬂ

\%__ e\ ] / ;

7] AN ~A !
M8 x 60 ;

cylinder Turn this bracket until the wheel
305 Wheel fairing fairing is in the right position as
alu bracket shown in the following picture.

I Drill the 6mm hole through gear
leg after aligning !!

Direction of flight Fig.3.3.4

connect wheel
hub and landing-
gear strut

7.1



Revision 1.5

1.2

220mm

(When horizontal stabilizer in
horizontal position, lift the
fuselage tail up)



Revision 1.5 _%

Brake Tube

Wheel Fairing
Alu Bracket

7.1



Revision 1.5 TN

Drill holes through the wheel
fairings and the aluminum
bracket

1.2



Revision 1.5 _%
Bolt M6x10 ————
DIN 1SO7384 Set screw M6x30 | I\
/ : 'i ==~
| I 5\
] — I
A I I
I \
Ff———-———-1]—-—— — — — ————— __—me—=== =—+ _ J— et | \\
| | | | M
Frre———— - - —— —— — === | ]
r J
g N I J
I | : -
\\ Wheel Fairing — /T o/
N Whee L —d /
.. N
\‘\\/ Bairing _
Wheel

Wheel fairing bolt

7.1




Revision 1.5

ZAJ DOZEOTON0 _ " o YN0 VR Y1 N
._..alzl_ HAON 1w virn] o[ [miom o e e o0
. o -
TIUDIOW'Y WY | e ooy o
Lo i’.l‘.
RINOIWNOD EUE..{ A3 " .

CUNIWVLIVEL _

QISIHDVIN TN | RO o .
awasse| G00Z/1 /L ¥iv v

I
0 D0V | f0F = 00F DM 0T 3800 1DF w05 Y Od § 3000
4] FITF w000 ¥ ORI 0¥ PV ORI TEY0 -
wl BT il

FE0 Biw G2 v el 00 100 5

©'H T2V AN 313 LLH LA 303 30 JEVLAS
ANTHISYJ T INOIEINLISOS V1 H34

YHFZT, — 5] _
W OF NFOE T - WITRIE

I
e
oM EEOR e TR o

0AZ 0 000 08 L

WHMOATYA D800

DAJH OLIC0E0I

Y DO MO M LS

£5 ¥ - SE1 M) mepny

VTH "_Eo._..aamﬂw._ﬁa ¥ AT NIy 5
u.ﬂﬁﬁhﬂ.ﬁ_uﬁ AR LA TR0
002 WM B34 OO0 07 WIrad 434 OO0 a3 t
WIHL 3 siﬁ?.nsctx GRS 1-HODNOEDI O3
oI w_..._.wu.w._gc LAZH 1GTETEDID
O] S ey CIOORID Wi

IMOITY JALTY VIMIS ONNYATILS

IS




Revision 1.5

1A34 DLZZ0I0I0

(UL Y B
LIIDW' Y TEEA

OISIHDYI 7ML 08 X .7 IHOH3D 1Y
CIDOYINOW 0 YWIHD5 seamesy

P00Z/1 1/ L0 Y0

& O Db 51 3400 10T =00V
SI0F = 80 W DR OC JAND D00 T u § Y OML 50w
L1 EE iz | YN0 32NV

..__“—_ _..3.-_._..—-»}1... il

HE
—EEP wmthL

]

MO0

1]

9 - BELE O T

BY L1 NS0T
= 0% - GOF i)

o

AT 0-L0I0 D1

|

E.__b_ﬂu_n__a_

_}HE_NGEE_

BAd 01 2R R0

n...uu.n_H._u_a_.L

- Ll i L m

38 AOET0 100D

QA ZZT 10100

DAZE 1 0CL0 106Dy

o ey




Revision 1.5 TN

The fairing must be pressed
to the fuselage bottom whik
installing the two M6 bolts.

The fairing must be moveable
to the fuselage bottom!

Fairing is attached with
one M6 bolt from the
outside and one M6 bolt
from the inside to the
gear leg

(A M6 threaded hole can
be drilled into the
centerline of the leg.)

7.4




Revision 1.5

Srew fairing coverplate with two
bolts M6x10 zn DIN 1SO7384
through wheel fairing and alu
bracket

Screw fairing coverplate to wheel
fairing with four screws

7.1




